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160, 000& »2CH = 12& 3,840
— B2 BIBM 242(32)
120,000 *2CH =13l 240
—3JIE22e HIIZ A2
500,000& = 1CH*13] 500
—HIIANEE BIIZ M2 900,000& x13] 900
~Jlsze 28 VEDE
5,000,000& x63| 30,000
—39E A2 180, 000& *53] 900
— B2 POAIAE(CCTY) ZHIBY 442
380,000& 1200 & 4,560
— B2 BAYH HA BAY
5,000,000& »23l 10,000
—ES&o=Adel BtAIAE(CCTY) BBlIEY
N 66,0002 124 & 792
ozdg=+4¢ 57,870
— 250252 2ANLSAAS HL+Y
70,0003 x 118 %13 770
— Y=g (g2, HH)
50,000& *2H *3652 +50, 000 & 2 120 48,500
— Y= S (2&2) 50,0008 *1Hx120L 6,000
—od=3 2 (SgM=2H)
50,0003 1«52 2,600
o1l =l 1,125
- &Y= 25,0002 x13H x 13| 325
— OtM 5t 50,0003 x13E *13] 650
—d33E= 150,000 *1H x 13| 150
O= &l 9,984
Zattl=32 2o AF S20HAH|
8,000& «13H +83|x12& 9,984
OJIglsd 22 M 16,080
— == M 110,000 604 *83| 5,280
—ZAH M 500& *1,00001 x83] 4,000
—cl= M 300& *2,0000H 83| 4,800
— B HIE 50,000 «501 x83] 2,000
O Btz Hs544 AYHEFTH 88
X = 2,950
— &9 WA 110, 000& *404 *53] 2,200
—cl=a 300& 50001 *53] 750
Ol=&E =9 A 300,000& x10& 3,000
O=3und HEA 224| 900,000& » 14! 900
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—st=2Z0o=3 2 HEts g3l
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— 20 daCANEE 2
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—Z=32 & St 23
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— 230=3l2 dte IISE AR
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—S#ENERELS(NHSXE) 60,000 *23| 120
— Ttz nERLRES
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—ZEXNY LAESE XS XAI(78813736)
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88,9903 x1CH+13] 89
—24ENY LAE8SE USASEEER
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— AYOrEESIY (3 2&) 50,000& x13] 50
—dI|orE e Ealdl(sl&) 120,0009 18] 120
— UUAEG 2 CIHYWAIEZE 250,000& 123 3,000
—RERS 1,200
L2 HE 300& x20021«12& 720
soleH 4,0003 102 «128 480
oozl 5,208
—H&EEI ASHI(BR)
1,200& %4004 =1CH 480
—L2ESENAZHI(ER)
1,200 2704 *1CH =12 3,888
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1,400& 90L*43] 504
—SSYHTYE ARH(FLR)
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— 22 % JIAZEH KX
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OJIgldA2d 10,000, 000& * 14 10,000




A S2O0AIE 22 0
dM: BIANE 2
Chel: EStAlE2tel (SH9: &)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
ORstzns =2 XA
25,000,000& =14 25,000
= 25,000
202 O4dl 6,746 11,806 25,060
01 S LHAYI 6,746 11,806 A5,060
O2tAIEAs & SEE8S 2204l
210,800& x4H «43| 3,373
OstEd FIIE3 & 0lAts &4 262 0]
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206 M= Hl 46,680 39,680 7,000
01 =8l 46,680 39,680 7,000
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22,000 x20H »23| 880
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Od2AE AsSH(dAgez) 7
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o o Yo Yo (] (e} o Ye] [Ye] L0 —
o D (o)) < < [oN] N~ N~ < [oN]
|_Jr_u o D ()} ™ ™ ™ <t <t Y9} Yo}
Ko M e < 1< -
E|
=)
o o o o o o [ep] N~ N~ < [N
[} o o o o o [aN] D ()} N~ ©
< o o o (e} (e} (o)) [ee] (e} o N
© < o |o o [ w | NN o | o
™ ~ ISR VRN o | —= |= S | o
Har @ = ~ s
il
RIS
o o o o o o Yo Yo o o o Yo} o o o o o o o [ap] N [V} © <t Yo Yo [aN] ()] ™ © o o
o o (e} o o o D D o o o ()] o © © o © o [{e] < N~ N~ D N~ O Yol D — Q O <t ©
N e ¥ < <9 S|l < < e el @ v © oW [ © 1 1o N N N R @ © 2
«© o © <t < o D D o] o o < o — — [e] — D [aV] [QV] — [e)) <t <t [ep] Y9) [ap] Y] (V) (ap)
(V] o [aV] N~ — © Yol Yo [ (e} (e} < [a\] [aN] N [e6] N [aV] o o ()]
@ ™ - - N~ Yo} —
=
ol
<
=}
T W o T 4T gy T A T 4« R~ Mol e 50 o] L
PR & % Tl el Y % 5 = = HY @9 43 % m N
[ X ol * N T o [l T 5 noan M au ol 80 = o *
or o x DJ o o ol o o o Sal— o0 N © % Mg D od
S o = S w0 W S S S = = Y % ¥y w?® =< o
0 ISR = IS) o zo Ko & <) S o1 — o ol v K W50 ¥ S
- O N~ - S <S5 S - - ool oy Ul 7o Jp 80 I 80 Spod ol o S
o S x o S ;S WO v =o S Mt ooy oo =) O © s %o I of -
=) S 8 * S >l 2 WE 5 <SS S oF) of CEX X omF om® o =1
S - 0H S S wre =9 — W S 5 9 9 —a Mg M <5 5 © N
. =) o - _ 9 S <o - - - DS S 0% O g oz o S 8V
P 8 g S 3 T e B2 Y 42 Q R <2 <2 L L R T8 4 o
> - ~ :w .A_l Te) o — o HI o o “m_l < :m_ < ol < 30 OF %)
== [aN] o = - R AR o © Sl ol o 20 .o © o
< S K A = = 0 = = ol ol o X o
* = Boowm 5% = _ & mps -8k -
r n = - oF Mo - - = = ol ol Gy
= i oll E_— ol U n 20 o
3 = b <k ol = _ ol Rt I+ — )
. - Ol R0 K0 oot = + < =0 = od 7l
= o " W % 3 ~ P— 4 R MT © o L~
= _ 4+ om = 4 A~ R _ > 3 o = w2
7 K = ul = o RS 50 o= o = 5 =
o o Kt = 5 moom A oW ur o Ok u = -
~— - Kk n < = — — — o I = — o 0k M~ R K Kl — —
oF <0 0 = O [ o o o5 oy 1S = ok = 505 " 1 3 ol 00 D
T B ma o i @oow @y o sim S ” s RID R o Ak s |z oW
ERLECIEUNE! oK =3 =3 =3 PORESS ur | o ol B o | T o <r <F Gl K0 ,E ROR) |80 | <F
- | W ™ HoW o DD WX WA < o R [ok 80 S @ Ok [O0f | D |= RO00 R0 O~ 87 ®™H|WM|@m D)
Rl =z ~ 0 T W HO o [w O WM OHR ROM |z OK R | Z ™A K< K R0 Moo @OnMo | m) |OF oW
RO Wwm O O ~ O O < |x<x O O O O O |~k O O |l [ O @) @) @) O | O
. » — — | — o | — 3] — | < — | —
o — (@) o o o — o o o o
g < < ol | — sV
I+ <




AN 20AE 22

g 2oAE 29

Chel: EStAlE2tel CEERED)
x 5 - 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
-/
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= 2,200,000 =14 2,200

—ANYUSSHAFSHE S HI FAH|
3,000 x330m" x23| 1,980
—ANEBRHSHE d2E 2SHI
500,000& * 12l 500
—ANUSEHHFSHEH SHE A=H|
300,000 62 1,800
—ANUZSMSHEH JtA ZFIZA =2
400,000& * 12l 400
—ANUZHMSHE 5201 HIEMN =8
120,000& »4CH =12 480

~NYSSHSHE AYAE FUAHAS
S22 2,000,000 *13] 2,000
—NESHHSHE SHF LB
200,008 * 122 2,400
— NS HSHME M2IISH(100L) B
1,950 x50% » 128 1,170
~NESHUSME BATAT L HHE A
= 700,0002! #23] 1,400
~ NSISSHSHE KISHIILH FYo
W 242 3,000,0002! *14! 3,000
—NQSSHSHE 22|
2,678,0002 2% * 128 64,272
— ANQSSHSHE HIO B 48
17,0002 1104 » 12 2,244
—NQSSHSUE 40| dg $42
47,0002 50} 128 2,820
— NS HSUE SASEHI AEY 4
2 25,0002 x2CH « 128 600
— N SHUSUE S8 SZHLH)
30,0002 18] 300
~ANQSSHSHE BT ot XS
100,000 *3CH *531 1,500
om= 825
- mgs 25,0008 +112 »18] 275
—orx 3 50,0002 112 »13] 550
ozzHl 7,392
—NOSSHUSME B BAF0 OE S
20448 8,0008! 112472 128 7,392
02 2B 401,836 391,812 10,024
OZ2R2 2 MAl 391,126
— NS HSHE ®I23
18,000, 0008 * 122 216,000
~ NS HSUE AT L ANEHY AB
2 15,0008 * 128 1,380
~ NYISSHSHE H5t4E DB
10,000,008 » 12 120,000
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= 100, 000& * 13l 100
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50,000& x13] 50
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120,000& * 13l 120
—ANEBRSHSLHE SH0I012 Mt AFER
3,000 «18CH*42 DI 216
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S0 AI42tel
D 2AE 29
23t

A& 2te

SA - FE - BI(EA) - NRAY - By 0l &t San DS
01 M= 4l 4,500 4,500 0
O28 M &8s Mz 2¢
5,000& 200 *23| 2,000
OBANE & &3 HelH 50,000 *50 4 2,500
307 glztol & 106,500 111,500 A5,000
04 QIZHEHALALS B & 106,500 111,500 A5,000
OZR&ZsHH 7,000,000 =14 7,000
OEStE 2SI AEIE 7,000,000& 13 7,000
OXgA A=32A 7,000,000 12 7,000
Ogtstg A Z | 3 3,000,000& 13 3,000
O=sZAgsHzE 2,000,000& 12 2,000
OZ8 2&H 5,000,000& =13 5,000
OSXzsd 324 50,000,000& *12] 50,000
OFAdZsta =2 20,000,000& =13l 20,000
Ozl da A S 1,000,000& =13l 1,000
OFAUZSIASE 1,500,000& 13l 1,500
One=ZAlaA 3,000,000& 13 3,000
401 Al HIZ 201 8] 39,500 10,000 29,500
01 A& HI 39,500 10,000 29,500
O2& 2t YRS L=3AM
20,000,000 =14l 20,000
O2& 2 MI|a L HASHIA L3 A
19,500,000 * 14! 19,500
405 TtobFH S 5,600 4,000 1,600
01 AL ESFH SH 5,600 4,000 1,600
OFstZNEY 24L0012 & SF=HAIA
DM +< 5,600,000 =14 5,600
Bl EQEsEn Has2au=s 65,000 0 65,000
= 65,000
201 Ler24E] 50,000 0 50,000
= 50,000
03 A2 I 50,000 0 50,000
Oo&le ER23sn 29
50,000,000 * 14l 50,000
= 50,000
301 et d=s 15,000 0 15,000
= 15,000
09 AL HI BN = 15,000 0 15,000
O3t ExEststl At ¥ 2HAlH|
15,000,000& * 14 15,000
= 15,000
HE2HAZHI (20 AL 22l t) 120,726 62,134 58,592




Ol Al & 2HEl It
HAZH (20 AL 22/

re 02 [o

AU (A Z 2l ) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A2 (20 AL 22l Dt) 46,316 0 46,316
QlHA2IHI (U AL 2t ) 46,316 0 46,316
101 @124l 46,316 0 46,316
01 2= 46,316 0 46,316
Oozuz2e+¢ 46,316
-sua94+y 80,4092 *16% «362 46,316
JI2ZHI (20 A& 22| mt) 74,410 62,134 12,276
Jl2dUl (20 A& 2elnt) 74,410 62,134 12,276
201 L2l 12,274 12,274 0
01 At 22l 12,274 12,274 0
Oget=&H| 12,274
—JIE2MRE3EH 100,000& »24H 2,400
—3l& L HE SAI SX2edb(EH S)
330,000 »2CH *32 1,980
—3a ¢ MY Zey, HA S22
237,000 *20H *33] *2J4 A 2,844
— SAJl =4&Hl 500,000& *2H 1,000
—SAMSI 7Y 20,0003 x15% A %128 3,600
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